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i il TRi284% 680 1HR#E
Hh g e 5B x| 85t Hh 35 HEK 5 x| &t
LtEF—TH 771 781| 801) 1,582 [hE=TH 1,256| 1,574| 1,556 3,130
tEFZ-TH 766 861[ 852) 1,713| [hEWTH 765 819 937| 1,756
TE—TH 1,775] 1,544| 1,813] 3,357| |#EHETH 959 1,117| 1,147| 2,264
TEI=TH 1,451| 1,384| 1,494| 2,878 |FEATH 834| 824| 836 1,660
PEF—TH 789 944 971 1,915| |B¥E—TH 1,146 1,178[ 1,267] 2,445
PEF_TH 507| 582| 600| 1,182| [BpE=TH 774 663  833| 1,496
FEF=TH 613] 815 832 1,647 |BE=TH 395 444] 470 914
PEFMETHE 752] 788 902| 1,690| (BT H 517| 615 650 1,265
PEFRTH 973] 1,108[ 1,201] 2,309| [BEHTH 1,012 954]| 1,099[ 2,053
TEF—TH 814 985] 1,029] 2,014| |#&xL—TB8H 1,861] 1,640 1,813] 3,453
TEF=-TH 279] 360[ 359 719| [WL=TH 1,455[ 1,295| 1,311] 2, 606
TEF=TH 138] 145 133| 278| |ML=TH 869 799 892 1,691
TEFWTH 232 291[ 309] 600| [MTE—TH 1,760] 1,750 2,111/ 3, 861
TEFRETH 237) 307|317 624 [ME=TH 1,604| 1,609| 1,875| 3,484
TE—TH 969 930[ 853| 1,783 [ME=TH 1,521| 1,673| 1,730] 3,403
TE-TH 497| 666| 671| 1,337| [iBE—TH 38 32 34 66
TE=TH 185|  249| 234| 483| |#8BE=TH 539| 443| 543|986
BAE—TH 446 564| 571 1,135| [BE=TH 1,122| 1,130] 1,205[ 2,335
MBAE=TH [ 1,401 1,180[ 1,259| 2,439| |FE#Em &5t |34, 600(35,995(38, 485|74, 480
BAE=TH 218| 335|338 673
EAEMRTH 26 42 32 14
EBAERTH 582 526 515] 1,041
BAENRTH 229 333 324 657
hE—-TH 843 932 955] 1, 887
hE=-TH 680 784  811| 1,595 HwEEt 34, 600(35, 99538, 485|74, 480




